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1.

2. meronym

3. performative verbs
4. intensional semantics
5. parser

6. sign language

7. principle of compositionality

II. Answer the following questions. (65 points)

1

The regular plural morpheme -s in English has three different phonetic
realizations. What are the three phonetic realizations? What do you think is the
underlying form of the English plural morpheme? What morphophonemic rules
are involved in deriving the three phonetic forms? Justify your answers.
(15 points)

S, standing for sentence, was a syntactic category in traditional transformational
grammar. In the 1980s, S was replaced by IP, which was replaced by TP
afterwards. Explain why S was replaced by IP and then by TP, respectively. Do
you think the theory with TP is better than the theory with S? Why or why not?
(15 points)

. Provide a speech error that you have heard/produced and explain its underlying

mechanism. (15 points)

Is first language acquisition the same as second languagé acquisition? Explain
why or why not. (20 points)
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